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Bihar STET Hindi 2019 Question Paper

|  ToeTT T et s g
= Pedagogy and Other Skills ( Q.Nos. 1 to 50 )
] T §, o ‘ -
| S AR Y, 2 Qe st § e @
T A R, G e e | |

94 +16-3x6+2 =27

B OHE

(A) | 12 B 8
(C) 15 D). o
If " stands for '+, '+' for '

, = for 'x' and '+ for '¢', then the value of the
following cquation |

54 1 16 -3x6+2="7

15
(A) 12 B) 8
(C) 15 (D) 9

I A =1, BAR = 21 3 STAR = 58, & ABROAD = ?
(A) 32 B) 41
(C) 33 (D) 42

If A=1, BAR =21 and STAR = 58, then P‘&%ROAD =7?
'.

A) 32 B) 41
5%,
© 33 - I D) 42

af ferdl S 9T H 'BREAKDOWN' &1 'BFSCIMVNC' fer@l imer & o e F
9197 § 'ORGANISED' &l ¥ W& Terar s 7

(A) PSHBMCDRH (B) BHSPMCDRH
(C) BHSPOCDRH (D) T W &is T

................................
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() Great grandfather

In a certain code 'BREAKDOWN' is written as 'BFSCJMVNC', How 18

'ORGANISED' written in that code ?

(A) PSHBMCDRH (B) BHSPMCDRH

(C) BHSPOCDRH (D)  None of these
23R B 1 A T El D, cH NE) 5 BH E A D g @ @

g & ? .
. N>

) V \)(B) el

(C) WG (D) Tl

A and B arc brothers. C is father of A. D is father of C. E is son of B. How is
D related to E7?

(A)  Grandson (B)  Great grandson

(D) Grandfather

Crafefigd § R o[ SR B T B

R|X|?
L
N F
A Q B S
(C) R (D) T
In the following, select the missing letter from the given series !
RIX]|?
B 1 VEl T
_N B FJ
(a) - Q B) S
© R o) T

afz A 1 33% BF 55% % TER € Al A 3K B &1 I @

- |
A 45 2 + %o B 5:4
c 3:5 o4 D) 5:3

04581 8¢t
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I33% of A is ¢qual to 55% of B, then the raiq of Aand Big
(A) 325

(B) 5.4
C 3:5 D) " 5:3
220%@%54m/ﬁ?ﬁWﬁﬁsm}%imﬁmﬁmw
Hﬁﬁﬁwﬁﬁahghﬁrﬁa/aéﬁw%ﬁé?aﬁﬁuﬁﬁﬁwﬁﬂﬂ?ﬂ%’
(A) 6 dshe B) 10¥dz -
() 8uhs D) 123

A 220 metre long tram 18 runnmg at a speed of 54 kilometre per hour. In what

time will it pass a man who is moving in the opposite direction of the train at a

speed of 12 kilometre per hour ?

(A) 6 secc

(B) . 10 sec
(C)  8scc (D) 12 sec
4-9 ! UfA¥d % Y ¥ =1 AT s gear

A)  49% B)  490%

(C)  0-049% (D)  0:49%

4-9 can be expressced in terms of percentage as

(A] 4-99%, (B] 490%
(C)  0-049% (D)  0:49%

aﬁ%mﬁloﬁﬁﬁ‘lﬂm%aﬁzmaﬁﬂﬁwq@?ﬁmq&
34! & &1 180 Afd L d o TW Wy w1y

) 20 A B 18fd

ag32)


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10.

—_—
o

If a job 1s Y v . .
1 15 10 be completed in 10 days, it requires 270 persons. If 180 persons

take up the same job, they will finish it in

(A) 20 days ‘ (B) | 18 days

(C) 15 days (D) none of these
I Ul ST el w1 A o 3y § FAE 8

(A) 129 (B) 139

(C) 132 (D) 137

The sum of all those prime numbers which are less than 31 is
(n) 129 B) 139
(€C) 132 (D) 137

(A)  TaEme™ & foema 0 weEsd g

(B) el 1A o1 YefuT AT 3R AR AEYTH g1 a UK & GoId ol

(C)  Tgreqor-sifire A foreRtad e

(D) zH E

A School Headmaster has the responsibility to

(A) help the school in its development

(B) obscrve the classromﬁ tcaching and suggest improvements if rcqujfed
(C)  devclop the teaching-lcarning materjg] '

(D) all of these

a7 dige & TATCHER 3YTH o e, ﬁmﬁwmmwa
A) Wummmﬂmaﬁ@ﬁr?ﬂ

B A & R A T

[ 60 _ ' 5/.32
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—— Constructivist Approach to language learning, learners are encouraged to

(A} discover the rules of grammar from the EXamples
(B)  ‘avoid crrops completely
(C) learn the grammar rules by rote

(D) write Creatively

3. I T & Wt ¥ e ENCIN T IE I

) e wgg aikd HINT 37 T H WETE By b

(B) W %wfié’rmaﬁraﬁwwﬁsﬁmwmﬁ
(C) S I i & SR Y s de

(D) = i T sy st T STeE- e WS BT
Which st

atement 1s not correct in the context of language teaching ?

(A) Print riched environment helps in acquiring language
(B) In language teaching, there is more cmphasis on correctness of spelling
Q) There is a difference between languag

g¢ acquisition and language learning

(D) Teaching of other subjects i helpful in language learning |

4. WWWHMHWG?%QW%W@WEMWW
a%m'wqﬁmqﬁwﬁtﬁ%aﬁﬁmmm% ?

(A) STt glier (B) FasH Wi
(D) SPREEr ohE

acher Eligibility Test conducteq for selection of candidates for admission into

teacher education institution is an ey

(©)  HFugha wiem
Te

ample of

(A) Achievement test (B) Placement test

(C) Atfitude test Aptitude test

[ 60455;. ] Set-E
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15.  RUemT H o B eeTot wRes g & 2
(A) T R TBEHE @ o @ afed
(C) Al & ®T ¥ foreqoy (D) WG TRidh § e
Which is the least important factor in teaching ?

(A) Giving homework to children (B)  Punishing the students

(C) Teaching as a facilitator (D) Lecturing in impressive way
16. 9 fgu o
s W\ifj‘rﬂ% @l § o el F TE W
19, 23, 26, 30, 33, ? 3+ 3% 3£
g 1.5
(A) 31 B) 35
€} 37 (D) 39

In the following question, select the missing number from the given series :
19. 23,26, 30, 33, ¢
(A) 31 (B) 35
(C) 37 D) 39
7. dfg 9 g el Hmmwwma‘fmwwmm7
(A)  GHER (B ER
(C) sifFaR | D)  qEER
If two days before yesterday was F riday, what day will be day after tomorrow ?

(A)  Monday (B)  Sunday

©) Saturday (D) Wednesday

naaa:{ﬁﬁ/a oo P fg @ T YE aal ¥ 36 SR feen # o fel T
mwm%mzfﬂ?ﬂﬁﬂ%fwmfﬁwamwﬁiwm
a;m-mmﬂﬁmwg?

(A) SR | (B) g

I (D) k9"

18.

(€)

T 132
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A man ‘A’ starts from a certain point and walks 2 km towards north, turns
towards his right and walks 2 km, turns right again and walks. What is the
direction is he facing now ?

(A)  South (B)  South-east

(C)  North (D)  West

Frethaa et & srprn A aml #0 3T o
876543217654321654321

19.

(A) 5 (B) 6

D) T ¥ HIE &

What should come next in the following number series ¥

) 4

876543217654321654321

(A) 5 B) 6

(C) 4 (D) None of these

20. Freferfes Hgeen 5 4 o g & 799w o

5|8 |32
9|6 |48
7191 ?

(A) 54 (B) 45

(C) 49 (D)  S3

Find the missing number from the given series :

32

48

e
(A) 54 (B) 45
() 49 D) 53

e
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21. ’Q‘:‘f-i'&:ﬁhﬁIBW/mﬁW@ﬁqméﬂﬁT%lQHFQTS'Q2O‘3{:$TW§3TFW
T T TH 20% T 7 g8, A @ |y AN =0 7 B
A) TN T EN (B) 19 I &1
(C) 1% &N (D) 8% 1 T

A man sells two pipes at Rs. 12 each. He gains 70% on one and loses 20% on

the other. In the whole transaction there is

(A) No profit no loss (B) 1% loss
(C) 1% profit (D) % profit
22, UF vHIETE T GE AR I9F o w1 ahe 2450 ¥ SR QO 3
(A) 48 ' (B) 49
) 51 D) 53

The sum of a positive integer and its square is 2450. The positive integer is
(A) 48 (B) 49
(C) 51 (D) 53

3. W9 UE € 15,20 d1 35 €@ I fFA S € A & 9N AW 8w &1 R

Fad Be €A >
,Yﬂﬁ‘
t\‘: %'{

(A) 427 B) 428 1
(C) 443 D) 463 \"’7%

When a number is divided by 15, 20 or 35, each time the T e
. Then

the smallest number is

(A a2 B) 428

['C] 443 (D) 463
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80 TR fivsyor F gy 3R aF &1 T 27 . 5% 3. %

| aﬁmaﬁiuafr{ﬁ%.
&rwaﬁmmﬁﬁmsﬁtwaﬁmmﬁfqﬁm%? |
(A) 10 @ex B) 15 &fex
(C) 20 ¥y D) = § %

more water is to be added to get a Mmixture containitg milk and waler-in the

ratioof3:1?

(A) 10 litres (B) 15 litres

(C)  20litres (D) None of these , |
@Wﬁ?oﬁﬁaﬁ IOOWﬁaﬂaﬂm%Wmlwﬁ 100 ®9a1 | {
forer G X 2 | o -
(A) 22 Y9 B 2 P f%j | |
(C) 24

e, (D) 26

! |

: W : '

A man sold 20 apples for Rs. 100 and gained 20%,
for Rs. 100 ?

How many apples did he buy _

() 22 . (B) 25 ‘ |
© 24 - (D) 26
e e foraRaRT % aﬁ}m U et BT &

C(A) HEI-HET ST G (B) FH H HER L *
(C)  <HeTI-heT I e (D) 3ol ST uRfEfaar o fmrar |

According to the behaviourist schgog] of psychology, the teacher is \

(A) a classroom facilitator

(B) storehouse of knowledge

(C) a leader in the classroom

_ ) creator of favourable learning conditions
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27. Al 99 W 3H Gl "ged i
(n) i wer § @ e it
(B) ﬁﬁ?‘m@ﬂﬁﬁm%ﬁﬁ%mﬁmﬁﬁﬂrﬁﬂ
(©) T fagiy w@hel H SeE ST =el
(D)  FAH T HE TR
A child who uses a wheel chair
(A) should not be in the regular sghool
(B)  should be givch cducation in a regular school in a lower QIaSS |
(C) should study only in a special school
(D) nonc of these
ne.  foren T TS @ e dier R fRE 2
(A) T EHIS I AEREare Ui |
) @I Afd-Reri = e aﬂﬁ I

() aremg @ el Al @l gee |

(D) FEAT el & fold ST SR R T
Psychology's major contribution to education lies in
(A)  to cater to the needs of knowledge society
(B) to preserve the. social customs

(C)  identifying successful methods for teaching

(D)  providing scientific foundation for ¢, art of teach;
aching

l i
i = 1 Cad T .
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29. ¥ e s fou s ® 2
W e g | (B)
(C) aﬁ' R (D)
Ivan Illich is popular for

(A) De-schooling Socicty (B)

(C) Field Experiment (D)

30. WhIWE fawm & g § fefefag o

(A) AT &=y (B)
(O  ToiRmEmn | (D)

characterized by 'Intense Scll Awareness' ?

(A) Childhood (B)

(C) Adolescence (D)

31. i ol e Wit A compuTER i
BULKHEAD' %1 {7 wertt ferat sy -

(A) MVCILEBF

| In the context of social development which

T feren

Ex-Pos_t facto research

Distance Education

3 _]"I'

Infancy

None of these

(B)  KTAILEBF
(C)  MTAGJEBF D) T ¥ = @

In a certain code '‘COMPUTER' g written as 'LNBVQSF

written in that code ?

(A)  MVCILEBF

(B) KTAILEBF
(C)  MTAGJEBF
' (D) None of these
11(1) |

12/ 3

NBVQSFU' ferial <11 & a1 3t %z wmon

it

W e # i G s

of the following stages is

U'. How is 'BULKHEAD'
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32. afaﬂmﬂﬂf%?ﬂqfa?mw’ggfn,}maﬁm_éﬁﬁmﬁﬁﬂfﬁf@awﬁﬁﬂm

&1 o 31d i \.,q;
| & %
39-23:21x5=7 g9.23-2\¥5 T
- \05 -7
- 3.3
(A 46 1R w BE {g/’
S D) 89

If » stands for + and

for -, find the value of the following equation :

39_‘23.2]y5:')

(A} 46 (B) 36
(C) 62 (D) 89
33. 3§ Z=26, NET = 39, d NUT = ?
(A) 50 (B) 53
(C) 55

If Z = 26, NET = 39, then NUT = ?

5% (B) 53
b \

VY

‘/Z 4

(D) 56

(A) 50
(C) 55

34. ADFHEZI D,BHFMAEI BN CTAE, A aw ¥ 7 Wy & -

. - B \_//’
2 D
(C) qr D) 3rEr ==

A is brother of D. D is father of B. B and Care sisters. How is A related to c?
(A)  Son B)  Father

(C) Grandson

-----
---------
......................
.......................
--------------
........

[ 60458 ] Set-E

............
-------------
........
......................................................................

13 / 32



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

36.

37.

[ 60458 ] Set-E

A) B% (B)  Teel
) Tao D) @&

Find the related word from the given alternatives :
Lion : Den : : Rabbit : ?

(A) Hole (B) Pit

e - LA, o 5
W~

Bl

(C) Burrow (D)  Trench

r

Fe 1 SFEd, 2013 B gUER A1, A 2 SEedl, 2014 F FAE H BT

g ar ? |

~

(A)  FER (B) FEHIER
(€) HTEER (D)  ¥FRAR

If 1st January, 2013 was Wednesday, then what day of the week was it on 2nd

January, 2014 ?

lf\) chncsday [B) Thursday

BU AT, W CABEIEY DO & ] AW ol &1 45 c g A DA

|

|

(C)  Tuesday (D)  Friday 1
1

BleT € dl g H Fad T HH § ) |

(A) A (B) C

L D) . E 8

A is older than B, but younger tha,, ¢. D is younger than E but older than A: If
Cis younger than D, who is the olgeg of all ? |

@ A

© D | |
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38.

39.

s T o — o
0 58] _ _ 15 / 32

_ 101
Frfei@d WC SFPE F 3 oy gy e 2
2 23 234 2345 23456 23456
(a) 2 B) 7
© 3 (D) Eqﬁﬁﬁﬁé:!ﬁ‘} |
What should come next in the following number sequence ?

2 23 234 2345 23456 23456

(A) 2 (B) 7

€ 3 (D). None of these

S e o fereet o & e v e o

éi?aﬁ D AOER O ?

(A)  TTEER (B) EHER

(C)  ¥ERAR (D)  IFER

Find the related word from the given alternatives :

January : November : : Sunday : ?

(A) - Tucsday ' - (B) Monday

(C)  Friday (D)  Saturday

el T3 g s A, & T e ¥ o 9w wmT

13, 27, 56, 115, ?

(A) 234 (B) 238"

© 233 | D) 243
In the following question, select the missing number from the given series :
13, 27, 56, 115, ? |
a2 . : (B) 238

© 283 D) 243

................................

..............

............................................
-

Sy ey : "
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41. SV AR e o1 S o €

(&) WuHR B) T &R wm
(ST | (D) - eHiear

The ultimate goal of education in Jainism is

(A)  Charity (B)  Pity and renunciation
(C)  Liberation (D) Non-violence

42, WRA H yun e ffoeme 68 a9 T @il Ry e o o

(A) 1966 (B) .1985

(C) 1986 (D) 1982

First Open University in India was established in the year

(A) 1966 B) 1985

(C) 1986 .[D) 1982
hﬂﬁﬁﬁwﬁww‘wmmmwmmaﬁnﬁ 2
() e I T et ()

(B) WW%&TE@ (Hieuas)

(C) =Y HH I Hoern, sRe TR

(D) W@aﬁwmﬂhw%ww&ﬁ(@ﬁéwﬁ)

43.

Continuous and Comprehensive Eyaluation in school education was started by

(A) IGNOU (B) CBSE

]
(C) MHRD, Govt. of India (D) NCERT ' *
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R"I‘E Act was implemented in India with effect from
(A)  1st April, 2010 - (B) 1st April, 2019
(C) 1st April, 2009 (D) 1st April, 2008
45, T W H HISR AR gRy g @ TS A &
(A) A 9T g iy B) TS
() T P T S T ) e

The policy recommended by the Kothari Commission rclatin.g language is
(A) Standard language formula

(B) Two—langﬁage formula

(C)  Three-language formula

(D) Re-interpretation of national language and official language
46. g v & SR =T T G0N 77y ) Goeiat & oo § ¥ )
(A) =i B) =+

3

C) g | (D) 9=

-Which of the following philosophies claimed that Vasna and Trishna lie at the

root ol human suffering ?

(A) Vedanta _ (B) Jainism

(C)  Buddhism (D) Samkhya
47, HHE U B sitaeed § )

(A)  feReTiiee ~ ®) @

(€ H . D) e

Who among the following is an existentialjg, thinker ?

(A) Kilpatrick (B) Rousseay
(C) Sartre

(D) Froebel

f60458 ISetE :Is,r_um Bl i AL S
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io.  FrTE @ e v T % AT & S feriery @ s i b

49.

[ 60458 | Set-E

e ?

(T, T, - S A

B) e gt wq Head garr

© amfes famm g A AR

(D) e e o Fded o el F1 WA

Which of the following functions is not related to school as an agency of

cducation ?

(A) Preserving knowledge, values, customs ctc.,

(B) Giving definite solutions to the religious problems
(C) Suggesting ways and means 1o social development

(D)  Socializing children for performing their future role

18T & S 1 BF-91 G9eE BEA & faewrEE % fagra 9 Fezar saom 2

(A)  TENHER

(C)  UplaarE

(B) FRYER
(D) 399 9 HI2 H21

Which school of Philosophy in education will plead affinity with Darwinian
theory of evaluation ?
(A) Pragmatism (B) Idealism

(C)  Naturalism (D) None of these

HITEE W # A R e % AR 6 - 14 99 % e #) i o

(A)  FT®ET 45

(B) =T 42
(C)  3IF®WT 21(A)

(D)  FIET 51(B)

Which of the following Articles of the Constitution of India lays down that
education of children aged 6 - 14 Years is a Fundamental Right ?
G (B)  Article 42

(C) Article 21(A) (D) Article 51(B)

18 /32 |
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feet

(¥o Ho 51 -150)

51. v Fo el v g
) FEEE B FEE
() i (o) eI
52. ‘gin’ @1 di-Toee g9 g ) |
(A) 9+ 3 B) G+ 3 1|
© g+ 3@ D geHE 8
53. TrefetEd @ 9 ®F TRy # A e 2 |
(A) fog vemd ' (B) CECRCECIES]
(C)  URA-9Rdl (O) I =Y
54. freAfciEd e g & Tal A9-9% § '
sy
(A) o7 — T T BN B) T -9
€) - T (D)  UEd - e GE

55, EH Y A T8

G
A

w

c) U (D) &1 : “
56. [ H @ F U IR SR € 2 ]’
W FW G
(C) e D) &FH
57, F9AIT @I 9 TN Y AEEl @ WS ST %
(a)  feen | B) T |
{

©) a0 IER A D) #IF & &Y

[-'60458 ] SEt-E ---................................................----'-""‘ 19 / 32
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58.

60.

61.

62.

63.

04.

65.

T T

A ARR (B)  gMI

(€ HRew (D)  Eferr
RN S oy i oy o AH 7
(A) - 3em B) Tawm
S (D) ST
TG § o e B 2 |
() %3R - Hrem (B)  TreAr - Ty
(© gt - wir D) ¥ -
el % T B A f e 3 R s g
A S B fw
S D) T F wE
TR | - iy & )
) - T . B @
© e D) T
iciE H H-07 S AN § 2
(A) UBE —
B) W&H - W
I(C) IRy -~  Teg

(D) e — e
Foferf o B v el &
SRR (B) SUBR
() g, D) T
Tt T S R § g
W S (B)  TRER! @

[ 60458 | Set-E

fqars &1 \
AL o (D) aETEE

20 /32
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66. = H W I R ) e &
(A) 3T B) o
(€ o) e
67. el 1 GHFRT v & | |
g ) fores e
(C) foT &an aren . (D) Ejﬂé’
68.  BloZA [dY  TEdH B & ?
(A) RIS | @B el
(€ 9 U g (D)  hleead
69.  fHeiied ¥ @ v a9 ® |
(A)  qoTEl Y hfear ¥ Ay €
(B) el Y AT FEY T &
(C)  TeTdl Sl higar § TERAO €
(D) oIl ohl SigdT TYE § U7 €
70. ‘T A 3o o FE G A A e R g G e e 2
(A) (B) R®
()  fsran fagisor (D)  TaE
71, 0T i T ST IRIE R &
(A) s | - (B) EER
) fafregaes D) THEREE
70, TN @ BN TSI S 7 Wi Tl ¥ 2
(A) T . B TR
(C) <34 | (D) BT @
73, ST g YEe A et e WO F R Fie R e g
(A)  Heoll T3S | (B)
(C) e - D) M
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e e

e AR

Rty
AT g6

&3
Tehifth

5

8

T9TeT waer

TEh H ST AT qHeE

101
74. T8 A% 35 o1 sy et 697 O ?
B e 5 - ®
C) ®ERj (D)
75. SR URREE % yade
(A)  Tug (B)
©)  T=vEmmy (D)
76.  HAME @47 J Ty e w1 FeA 0 W91 Al I E 2
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